ARIZONA DEPARTMENT OF TRANSPORTATION INFRASTRUCTURE DELIVERY AND OPERATIONS DIVISION CONTRACTS AND SPECIFICATIONS SECTION

TABULATION OF BIDS

CONTRACT # 2025009

	TRAC	S No.	Project No.	Item	County	District	Gross Length	Net Length	Prepared By:
017	YV 296	F072201C	017-B-(240)T	104214	YAVAPAI	NORTHCENT	2.3		Mike Wechselberger

Highway Termini Location Work Description	
---	--

[•] CAMP VERDE - FLAGSTAFF HIGHWAY

MCGUIREVILLE REST AREA

[•]TIRE ANOMALY SYSTEM INSTALLATION

Printed: 7/25/2025 Page 1 of 3

BID RESULTS FOR 2025009

Bid Opening Date: 6/6/2025, Prequalification Required, Engineer Specialist: Mike Wechselberger

Completion Date:

125 Working Days

The proposed project is located in Yavapai County, on I-17 at the McGuireville Rest Area approximately 3.0 miles north of McGuireville starting at Milepost 295.84. The proposed project consists of upgrading the existing weigh-in-motion (WIM) system to accommodate Automated Tire Pressure Screening (ATPS) sensors.

Bid Rank	Compared To Department Estimat Option #	Bid Amount	Contractor	Extended Sum of Items
	+%	\$938,282.00	DEPARTMENT ESTIMATE	\$938,282.00
1	-9.7%	\$846,840.50	ROADWAY ELECTRIC, LLC 8660 E. Hartford Drive # 305 Scottsdale, AZ 85255-	\$846,840.50
2	+2.7%	\$963,920.00	MICHIANA CONTRACTING, INC. 7843 LILAC ROAD PLYMOUTH, IN 46563-	\$963,920.00

Winning Bidder is 9.7% Under Department Estimate (Difference = (\$91,441.50))

Printed: 7/25/2025 Page 2 of 3 *** Bid Tabs for Proposal Pamphlet 2025009 ***

ltem Number	Unit of Measure Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7016030	EACH-DAY BARRICADE (TYPE 1, TYP	E 2, VERT.PANEL, TUBULAR MA	ARKER)		
Bid Rank	Department Estimate	2,925.000	\$1.000	\$2,925.00	
1	ROADWAY ELECTRIC, LLC		\$0.650	\$1,901.25	-35.0%
2	MICHIANA CONTRACTING, INC.		\$1.000	\$2,925.00	+0.0%
7016032	EACH-DAY PORTABLE SIGN STAND (I	RIGID)			
Bid Rank	Department Estimate	30.000	\$1.250	\$37.50	
1	ROADWAY ELECTRIC, LLC		\$0.800	\$24.00	-36.0%
2	MICHIANA CONTRACTING, INC.		\$25.000	\$750.00	+1900.0%
7016033	EACH-DAY PORTABLE SIGN STAND (SPRING TYPE)			
Bid Rank	Department Estimate	580.000	\$1.000	\$580.00	
1	ROADWAY ELECTRIC, LLC		\$3.200	\$1,856.00	+220.0%
2	MICHIANA CONTRACTING, INC.		\$25.000	\$14,500.00	+2400.0%
7016035	EACH-DAY WARNING LIGHT (TYPE A))			
Bid Rank	Department Estimate	580.000	\$0.250	\$145.00	
1	ROADWAY ELECTRIC, LLC		\$0.250	\$145.00	+0.0%
2	MICHIANA CONTRACTING, INC.		\$0.100	\$58.00	-60.0%
7016037	EACH-DAY WARNING LIGHT (TYPE C)			
Bid Rank	Department Estimate	2,925.000	\$0.500	\$1,462.50	
1	ROADWAY ELECTRIC, LLC		\$0.250	\$731.25	-50.0%
2	MICHIANA CONTRACTING, INC.		\$0.100	\$292.50	-80.0%
7016050	EACH-DAY TRUCK-MOUNTED ATTEN	UATOR			
Bid Rank	Department Estimate	45.000	\$750.000	\$33,750.00	
1	ROADWAY ELECTRIC, LLC		\$1,222.000	\$54,990.00	+62.9%
2	MICHIANA CONTRACTING, INC.		\$750.000	\$33,750.00	+0.0%
7016051	EACH-DAY TEMPORARY SIGN (LESS	THAN 10 S.F.)			
Bid Rank	Department Estimate	60.000	\$0.500	\$30.00	
1	ROADWAY ELECTRIC, LLC		\$0.750	\$45.00	+50.0%
2	MICHIANA CONTRACTING, INC.		\$0.500	\$30.00	+0.0%
7016052	EACH-DAY TEMPORARY SIGN (10 S.F	F. OR MORE)			
Bid Rank	Department Estimate	565.000	\$0.800	\$452.00	
1	ROADWAY ELECTRIC, LLC		\$0.800	\$452.00	+0.0%
2	MICHIANA CONTRACTING, INC.		\$0.750	\$423.75	-6.3%
7016061	EACH-DAY FLASHING ARROW PANEL				
Bid Rank	Department Estimate	30.000	\$15.000	\$450.00	
1	ROADWAY ELECTRIC, LLC		\$43.000	\$1,290.00	+186.7%
2	MICHIANA CONTRACTING, INC.		\$500.000	\$15,000.00	+3233.3%

Printed: 7/25/2025 Page 3 of 3 *** Bid Tabs for Proposal Pamphlet 2025009 ***

Rote		Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
1 ROADWAY ELECTRIC, LLC \$88.000 \$2,040.00 \$44.6% 7016079 HOUR FLAGGING SERVICES (UNIFORMED OFFICER) Bid Rank Department Estimate 80.000 \$125.000 \$10,000.00 +284.6% 1 ROADWAY ELECTRIC, LLC \$147.000 \$11,760.00 +17.6% 2 MICHIANA CONTRACTING, INC. \$110.000 \$89,000.00 +17.6% 9010001 LSUM MOBILIZATION \$65,285.000 \$65,285.00 -12.0% 1 ROADWAY ELECTRIC, LLC \$65,285.000 \$65,285.00 -31.3% 2 MICHIANA CONTRACTING, INC. \$65,285.000 \$65,285.00 -31.3% 9240099 LSUM MISCELLANEOUS WORK (REINSTALL NB LOOPS AND WWI SENSORS) NB CANDAY ELECTRIC, LLC \$126,000.000 \$125,000.00 +22.8% Bid Rank Department Estimate 1.000 \$215,000.000 \$123,012.00 42.8% 2 MICHIANA CONTRACTING, INC. \$163,683.750 \$155,383.75 \$125,000.00 \$124,8% Bid Rank Department Estimate 1.000 \$215,000.00	7	016067	EACH-DAY	CHANGEABLE MESSAGE E	BOARD (CONTRACTOR FURNI	SHED)		
Total	В	Bid Rank	Department	Estimate	30.000	\$65.000	\$1,950.00	
To16079		1	ROADWAY	ELECTRIC, LLC		\$68.000	\$2,040.00	+4.6%
Bid Rank Department Estimate 00.000 \$125.000 \$10,000.00 \$11,760.00 \$11,760.00 \$11,760.00 \$11,760.00 \$11,760.00 \$11,760.00 \$11,760.00 \$11,760.00 \$11,760.00 \$11,760.00 \$11,760.00 \$11,760.00 \$11,760.00 \$11,760.00 \$11,760.00 \$11,760.00 \$11,760.00 \$11,760.00 \$11,700.00 \$10,000.00 \$1		2	MICHIANA (CONTRACTING, INC.		\$250.000	\$7,500.00	+284.6%
ROADWAY ELECTRIC, LLC	7	016079	HOUR	FLAGGING SERVICES (UNI	FORMED OFFICER)			
2	В	id Rank	Department	Estimate	80.000	\$125.000	\$10,000.00	
9010001 L.SUM MOBILIZATION Bid Rank Department Estimate 1.000 \$95,000.000 \$95,000.00 \$95,000.00 \$10,00		1	ROADWAY	ELECTRIC, LLC		\$147.000	\$11,760.00	+17.6%
Bid Rank Department Estimate 1.000 \$95,000.000 \$95,000.00 \$95,000.00 \$10,000.000 \$10		2	MICHIANA (CONTRACTING, INC.		\$110.000	\$8,800.00	-12.0%
1 ROADWAY ELECTRIC, LLC \$65,285.000 \$65,285.00 -31.3% 2 MICHIANA CONTRACTING, INC. \$100,0000.000 \$100,0000.00 +5.3% 9240099 L.SUM MISCELLANEOUS WORK (REINSTALL NB LOOPS AND VWI SENSORS) BIG Rank Department Estimate 1.000 \$215,000.000 \$215,000.00 42.8% 1 ROADWAY ELECTRIC, LLC \$123,012.000 \$123,012.00 422.8% 9240100 L.SUM MISCELLANEOUS WORK (REINSTALL SB LOOPS AND VWI SENSORS) \$155,383.75 -27.7% 9240100 L.SUM MISCELLANEOUS WORK (REINSTALL SB LOOPS AND VWI SENSORS) \$116,716.000 \$215,000.00 \$215,000.00 45.7% 9240110 L.SUM MISCELLANEOUS WORK (REINSTALL SB LOOPS AND VWI SENSORS) \$116,716.000 \$116,716.00 45.7% 1 ROADWAY ELECTRIC, LLC \$116,716.000 \$116,716.00 45.7% 2 MICHIANA CONTRACTING, INC. \$190,000.000 \$190,000.00 \$190,000.00 \$190,000.00 \$222,146.00 422.2% \$22.9% \$230,000.00 \$233,000.00 \$223,146.00 \$22.8% \$22.9% \$240,120	9	010001	L.SUM	MOBILIZATION				
2 MICHIANA CONTRACTING, INC. \$100,000.000 \$100,000.000 +5.3%	В	id Rank	Department	Estimate	1.000	\$95,000.000	\$95,000.00	
9240099 L.SUM MISCELLANEOUS WORK (REINSTALL NB LOOPS AND VWI SENSORS)		1	ROADWAY	ELECTRIC, LLC		\$65,285.000	\$65,285.00	-31.3%
Bid Rank Department Estimate 1.000 \$215,000.000 \$215,000.00 \$215,000.00 \$123,012.00 \$42.8% \$123,012.000 \$123,012.00 \$42.8% \$123,012.000 \$123,012.00 \$42.8% \$125,000.000 \$123,012.00 \$42.8% \$125,000.000 \$125,000.000 \$155,000		2	MICHIANA (CONTRACTING, INC.		\$100,000.000		+5.3%
1 ROADWAY ELECTRIC, LLC \$123,012.000 \$123,012.00 42.8% 2 MICHIANA CONTRACTING, INC. \$155,383.750 \$155,383.75 -27.7% 9240100 L.SUM MISCELLANEOUS WORK (REINSTALL SB LOOPS AND VWI SENSORS) S165,383.750 \$215,000.00 Bid Rank Department Estimate 1.000 \$215,000.000 \$215,000.00 1 ROADWAY ELECTRIC, LLC \$116,716.000 \$116,716.00 -45.7% 2 MICHIANA CONTRACTING, INC. \$149,907.000 \$149,907.00 -30.3% 9240119 EACH MISCELLANEOUS WORK (REPLACE AND UPGRADE EXISTING SINGLE THRESHOLD WIM SYSTEM AND INSTALL ATPS SENSO Bid Rank Department Estimate 1.000 \$190,000.000 \$190,000.00 1 ROADWAY ELECTRIC, LLC \$232,146.000 \$232,146.00 \$223,146.00 +22.2% 9240120 EACH MISCELLANEOUS WORK (UPGRADE EXISTING SINGLE THRESHOLD WIM SYSTEM AND INSTALL ATPS SENSORS) 1 Bid Rank Department Estimate 1.000 \$145,000.000 \$145,000.00 +22.6% 9240133 EACH MISCELLANEOUS WORK (REPLACE VMS CABINET)	9	240099	L.SUM	MISCELLANEOUS WORK (I	REINSTALL NB LOOPS AND VV	VI SENSORS)		
2 MICHIANA CONTRACTING, INC. \$155,383.750 \$155,383.75 -27.7% 9240100 L.SUM MISCELLANEOUS WORK (REINSTALL SB LOOPS AND VWI SENSORS) Bid Rank Department Estimate 1.000 \$215,000.000 \$215,000.00 \$215,000.00 45.7% 1 ROADWAY ELECTRIC, LLC \$116,716.000 \$116,716.00 -45.7% 45.7%	В	Bid Rank	Department	Estimate	1.000	\$215,000.000	\$215,000.00	
9240100		1	ROADWAY	ELECTRIC, LLC		\$123,012.000	\$123,012.00	-42.8%
Bid Rank Department Estimate 1.000 \$215,000.000 \$215,000.00 1 ROADWAY ELECTRIC, LLC \$116,716.000 \$116,716.00 -45.7% 2 MICHIANA CONTRACTING, INC. \$149,907.000 \$149,907.00 -30.3% 9240119 EACH MISCELLANEOUS WORK (REPLACE AND UPGRADE EXISTING SINGLE THRESHOLD WIM SYSTEM AND INSTALL ATPS SENSO Bid Rank Department Estimate 1.000 \$190,000.000 \$190,000.00 1 ROADWAY ELECTRIC, LLC \$232,146.000 \$232,146.00 +22.2% 2 MICHIANA CONTRACTING, INC. \$233,000.000 \$233,000.00 +22.8% 9240120 EACH MISCELLANEOUS WORK (UPGRADE EXISTING SINGLE THRESHOLD WIM SYSTEM AND INSTALL ATPS SENSORS) Bid Rank Department Estimate 1.000 \$145,000.000 \$145,000.00 1 ROADWAY ELECTRIC, LLC \$182,441.000 \$182,441.00 +25.8% 2 MICHIANA CONTRACTING, INC. \$189,000.000 \$189,000.00 +30.3% 9240133 EACH MISCELLANEOUS WORK (REPLACE VMS CABINET) \$46,156.000 \$46,156.000 \$46,56.00 +385.9% </td <td></td> <td>2</td> <td>MICHIANA (</td> <td>CONTRACTING, INC.</td> <td></td> <td>\$155,383.750</td> <td>\$155,383.75</td> <td>-27.7%</td>		2	MICHIANA (CONTRACTING, INC.		\$155,383.750	\$155,383.75	-27.7%
1 ROADWAY ELECTRIC, LLC \$116,716.000 \$116,716.00 45.7% 2 MICHIANA CONTRACTING, INC. \$149,907.000 \$149,907.00 -30.3% 9240119 EACH MISCELLANEOUS WORK (REPLACE AND UPGRADE EXISTING SINGLE THRESHOLD WIM SYSTEM AND INSTALL ATPS SENSO Bid Rank Department Estimate 1.000 \$190,000.000 \$190,000.00 1 ROADWAY ELECTRIC, LLC \$232,146.000 \$232,146.00 +22.2% 2 MICHIANA CONTRACTING, INC. \$233,000.000 \$233,000.00 +22.6% 9240120 EACH MISCELLANEOUS WORK (UPGRADE EXISTING SINGLE THRESHOLD WIM SYSTEM AND INSTALL ATPS SENSORS) Bid Rank Department Estimate 1.000 \$145,000.000 \$145,000.00 1 ROADWAY ELECTRIC, LLC \$182,441.000 \$182,441.00 +25.8% 2 MICHIANA CONTRACTING, INC. \$189,000.000 \$189,000.00 +30.3% 9240133 EACH MISCELLANEOUS WORK (REPLACE VMS CABINET) Bid Rank Department Estimate 1.000 \$9,500.000 \$9,500.00 2 MICHIANA CONTRACTING, INC. \$46,156.000	9	240100	L.SUM	MISCELLANEOUS WORK (I	REINSTALL SB LOOPS AND VV	VI SENSORS)		
2 MICHIANA CONTRACTING, INC. \$149,907.000 \$149,907.00 -30.3% 9240119 EACH MISCELLANEOUS WORK (REPLACE AND UPGRADE EXISTING SINGLE THRESHOLD WIM SYSTEM AND INSTALL ATPS SENSO Bid Rank Department Estimate 1.000 \$190,000.000 \$190,000.00 1 ROADWAY ELECTRIC, LLC \$232,146.000 \$232,146.00 +22.2% 2 MICHIANA CONTRACTING, INC. \$233,000.000 \$233,000.00 +22.6% 9240120 EACH MISCELLANEOUS WORK (UPGRADE EXISTING SINGLE THRESHOLD WIM SYSTEM AND INSTALL ATPS SENSORS) Bid Rank Department Estimate 1.000 \$145,000.00 \$145,000.00 1 ROADWAY ELECTRIC, LLC \$182,441.000 \$182,441.00 +25.8% 2 MICHIANA CONTRACTING, INC. \$189,000.000 \$189,000.00 +30.3% 9240133 EACH MISCELLANEOUS WORK (REPLACE VMS CABINET) Bid Rank Department Estimate 1.000 \$9,500.000 \$9,500.00 \$46,156.00 +385.9% 2 MICHIANA CONTRACTING, INC. \$45,000.000 \$45,000.00 +373.7% 9240134 <t< td=""><td>В</td><td>Bid Rank</td><td>Department</td><td>Estimate</td><td>1.000</td><td>\$215,000.000</td><td>\$215,000.00</td><td></td></t<>	В	Bid Rank	Department	Estimate	1.000	\$215,000.000	\$215,000.00	
P240119		1	ROADWAY	ELECTRIC, LLC		\$116,716.000	\$116,716.00	-45.7%
Bid Rank Department Estimate 1.000 \$190,000.000 \$190,000.00 1 ROADWAY ELECTRIC, LLC \$232,146.000 \$232,146.00 +22.2% 2 MICHIANA CONTRACTING, INC. \$233,000.000 \$233,000.00 +22.6% 9240120 EACH MISCELLANEOUS WORK (UPGRADE EXISTING SINGLE THRESHOLD WIM SYSTEM AND INSTALL ATPS SENSORS) Bid Rank Department Estimate 1.000 \$145,000.000 \$145,000.00 1 ROADWAY ELECTRIC, LLC \$182,441.000 \$182,441.00 +25.8% 2 MICHIANA CONTRACTING, INC. \$189,000.000 \$189,000.00 +30.3% 9240133 EACH MISCELLANEOUS WORK (REPLACE VMS CABINET) \$46,156.000 \$9,500.00 1 ROADWAY ELECTRIC, LLC \$46,156.000 \$46,156.00 +385.9% 2 MICHIANA CONTRACTING, INC. \$45,000.000 \$45,000.00 +373.7% 9240134 EACH MISCELLANEOUS WORK (REPLACE PULL BOX) \$8,500.000 \$17,000.00 Bid Rank Department Estimate 2.000 \$8,500.000 \$17,000.00 1 ROADWAY ELE		2	MICHIANA (CONTRACTING, INC.		\$149,907.000	\$149,907.00	-30.3%
1 ROADWAY ELECTRIC, LLC \$232,146.000 \$232,146.00 +22.2% 2 MICHIANA CONTRACTING, INC. \$233,000.00 \$233,000.00 +22.6% 9240120 EACH MISCELLANEOUS WORK (UPGRADE EXISTING SINGLE THRESHOLD WIM SYSTEM AND INSTALL ATPS SENSORS) Bid Rank Department Estimate 1.000 \$145,000.000 \$145,000.00 1 ROADWAY ELECTRIC, LLC \$182,441.000 \$182,441.00 +25.8% 2 MICHIANA CONTRACTING, INC. \$189,000.000 \$189,000.00 +30.3% 9240133 EACH MISCELLANEOUS WORK (REPLACE VMS CABINET) Bid Rank Department Estimate 1.000 \$9,500.000 \$9,500.00 1 ROADWAY ELECTRIC, LLC \$46,156.000 \$46,156.00 +385.9% 2 MICHIANA CONTRACTING, INC. \$45,000.000 \$45,000.00 +373.7% 9240134 EACH MISCELLANEOUS WORK (REPLACE PULL BOX) \$8,500.000 \$17,000.00 Bid Rank Department Estimate 2.000 \$8,500.000 \$5,850.00 -65.6%	9	240119	EACH	MISCELLANEOUS WORK (I	REPLACE AND UPGRADE EXIS	STING SINGLE THRE	SHOLD WIM SYSTEM AN	ND INSTALL ATPS SENSO
2 MICHIANA CONTRACTING, INC. \$233,000.000 \$233,000.00 \$233,000.00 \$223,000.00 \$223,000.00 \$223,000.00 \$223,000.00 \$223,000.00 \$223,000.00 \$233,000.00 \$233,000.00 \$233,000.00 \$233,000.00 \$233,000.00 \$233,000.00 \$233,000.00 \$233,000.00 \$233,000.00 \$233,000.00 \$233,000.00 \$233,000.00 \$233,000.00 \$233,000.00 \$233,000.00 \$245,000.00 \$245,000.00 \$233,000.00 \$233,000.00 \$233,000.00 \$233,000.00 \$233,000.00 \$245,000.00 \$245,000.00 \$245,000.00 \$245,000.00 \$245,000.00 \$245,000.00 \$233,000.00 \$233,000.00 \$245,000.00 \$245,000.00 \$245,000.00 \$233,000.00 \$233,000.00 \$233,000.00 \$233,000.00 \$230,000.00 \$25,000.00 \$230,000.00 \$25,000.00 \$230,000.00 \$230,000.00 \$230,000.00 \$230,000.00 \$230,000.00 \$230,000.00 \$230,000.00 \$230,000.00 \$230,000.00 \$230,000.00 \$230,000.00 \$230,000.00 \$230,000.00 \$230,000.00 \$230,000.00 \$230,000.00 \$230,000.00 \$230,000.00	В	Bid Rank	Department	Estimate	1.000	\$190,000.000	\$190,000.00	
9240120 EACH MISCELLANEOUS WORK (UPGRADE EXISTING SINGLE THRESHOLD WIM SYSTEM AND INSTALL ATPS SENSORS) Bid Rank Department Estimate 1.000 \$145,000.000 \$145,000.00 1 ROADWAY ELECTRIC, LLC \$182,441.000 \$182,441.00 +25.8% 2 MICHIANA CONTRACTING, INC. \$189,000.000 \$189,000.00 +30.3% 9240133 EACH MISCELLANEOUS WORK (REPLACE VMS CABINET) Bid Rank Department Estimate 1.000 \$9,500.000 \$9,500.00 1 ROADWAY ELECTRIC, LLC \$46,156.000 \$46,156.00 +385.9% 2 MICHIANA CONTRACTING, INC. \$45,000.000 \$45,000.00 +373.7% 9240134 EACH MISCELLANEOUS WORK (REPLACE PULL BOX) \$8,500.000 \$17,000.00 Bid Rank Department Estimate 2.000 \$8,500.000 \$17,000.00 1 ROADWAY ELECTRIC, LLC \$2,925.000 \$5,850.00 -65.6%		1	ROADWAY	ELECTRIC, LLC		\$232,146.000	\$232,146.00	+22.2%
Bid Rank Department Estimate 1.000 \$145,000.000 \$145,000.00 1 ROADWAY ELECTRIC, LLC \$182,441.000 \$182,441.00 +25.8% 2 MICHIANA CONTRACTING, INC. \$189,000.000 \$189,000.00 +30.3% 9240133 EACH MISCELLANEOUS WORK (REPLACE VMS CABINET) Bid Rank Department Estimate 1.000 \$9,500.000 \$9,500.00 1 ROADWAY ELECTRIC, LLC \$46,156.000 \$46,156.00 +385.9% 2 MICHIANA CONTRACTING, INC. \$45,000.000 \$45,000.00 +373.7% 9240134 EACH MISCELLANEOUS WORK (REPLACE PULL BOX) \$8,500.000 \$17,000.00 Bid Rank Department Estimate 2.000 \$8,500.000 \$17,000.00 1 ROADWAY ELECTRIC, LLC \$2,925.000 \$5,850.00 -65.6%		2	MICHIANA (CONTRACTING, INC.		\$233,000.000	\$233,000.00	+22.6%
1 ROADWAY ELECTRIC, LLC \$182,441.000 \$182,441.00 +25.8% 2 MICHIANA CONTRACTING, INC. \$189,000.000 \$189,000.00 +30.3% 9240133 EACH MISCELLANEOUS WORK (REPLACE VMS CABINET) Bid Rank Department Estimate 1.000 \$9,500.000 \$9,500.00 1 ROADWAY ELECTRIC, LLC \$46,156.000 \$46,156.00 +385.9% 2 MICHIANA CONTRACTING, INC. \$45,000.000 \$45,000.00 +373.7% 9240134 EACH MISCELLANEOUS WORK (REPLACE PULL BOX) Bid Rank Department Estimate 2.000 \$8,500.000 \$17,000.00 1 ROADWAY ELECTRIC, LLC \$2,925.000 \$5,850.00 -65.6%	9	240120	EACH	MISCELLANEOUS WORK (I	JPGRADE EXISTING SINGLE T	HRESHOLD WIM SY	YSTEM AND INSTALL ATP	S SENSORS)
2 MICHIANA CONTRACTING, INC. \$189,000.000 \$189,000.00 +30.3% 9240133 EACH MISCELLANEOUS WORK (REPLACE VMS CABINET) Bid Rank Department Estimate 1.000 \$9,500.000 \$9,500.00 1 ROADWAY ELECTRIC, LLC \$46,156.000 \$46,156.00 +385.9% 2 MICHIANA CONTRACTING, INC. \$45,000.000 \$45,000.00 +373.7% 9240134 EACH MISCELLANEOUS WORK (REPLACE PULL BOX) Bid Rank Department Estimate 2.000 \$8,500.000 \$17,000.00 1 ROADWAY ELECTRIC, LLC \$2,925.000 \$5,850.00 -65.6%	В	Bid Rank	Department	Estimate	1.000	\$145,000.000	\$145,000.00	
9240133 EACH MISCELLANEOUS WORK (REPLACE VMS CABINET) Bid Rank Department Estimate 1.000 \$9,500.000 \$9,500.00 1 ROADWAY ELECTRIC, LLC \$46,156.000 \$46,156.00 +385.9% 2 MICHIANA CONTRACTING, INC. \$45,000.000 \$45,000.00 +373.7% 9240134 EACH MISCELLANEOUS WORK (REPLACE PULL BOX) Bid Rank Department Estimate 2.000 \$8,500.000 \$17,000.00 1 ROADWAY ELECTRIC, LLC \$2,925.000 \$5,850.00 -65.6%		1	ROADWAY	ELECTRIC, LLC		\$182,441.000	\$182,441.00	+25.8%
Bid Rank Department Estimate 1.000 \$9,500.000 \$9,500.00 1 ROADWAY ELECTRIC, LLC \$46,156.000 \$46,156.00 +385.9% 2 MICHIANA CONTRACTING, INC. \$45,000.000 \$45,000.00 +373.7% 9240134 EACH MISCELLANEOUS WORK (REPLACE PULL BOX) Bid Rank Department Estimate 2.000 \$8,500.000 \$17,000.00 1 ROADWAY ELECTRIC, LLC \$2,925.000 \$5,850.00 -65.6%		2	MICHIANA (CONTRACTING, INC.		\$189,000.000	\$189,000.00	+30.3%
1 ROADWAY ELECTRIC, LLC \$46,156.000 \$46,156.00 +385.9% 2 MICHIANA CONTRACTING, INC. \$45,000.000 \$45,000.00 +373.7% 9240134 EACH MISCELLANEOUS WORK (REPLACE PULL BOX) Bid Rank Department Estimate 2.000 \$8,500.000 \$17,000.00 1 ROADWAY ELECTRIC, LLC \$2,925.000 \$5,850.00 -65.6%	9	240133	EACH	MISCELLANEOUS WORK (I	REPLACE VMS CABINET)			
2 MICHIANA CONTRACTING, INC. \$45,000.000 \$45,000.00 +373.7% 9240134 EACH MISCELLANEOUS WORK (REPLACE PULL BOX) Bid Rank Department Estimate 2.000 \$8,500.000 \$17,000.00 1 ROADWAY ELECTRIC, LLC \$2,925.000 \$5,850.00 -65.6%	В	id Rank	Department	Estimate	1.000	\$9,500.000	\$9,500.00	
9240134 EACH MISCELLANEOUS WORK (REPLACE PULL BOX) Bid Rank Department Estimate 2.000 \$8,500.000 \$17,000.00 1 ROADWAY ELECTRIC, LLC \$2,925.000 \$5,850.00 -65.6%		1	ROADWAY	ELECTRIC, LLC		\$46,156.000	\$46,156.00	+385.9%
Bid Rank Department Estimate 2.000 \$8,500.000 \$17,000.00 1 ROADWAY ELECTRIC, LLC \$2,925.000 \$5,850.00 -65.6%		2	MICHIANA (CONTRACTING, INC.		\$45,000.000	\$45,000.00	+373.7%
1 ROADWAY ELECTRIC, LLC \$2,925.000 \$5,850.00 -65.6%	9	240134	EACH	MISCELLANEOUS WORK (I	REPLACE PULL BOX)			
	В	Bid Rank	Department	Estimate	2.000	\$8,500.000	\$17,000.00	
2 MICHIANA CONTRACTING, INC. \$3,800,000 \$7,600,00 -55.3%		1	ROADWAY	ELECTRIC, LLC		\$2,925.000	\$5,850.00	-65.6%
7.,000,00		2	MICHIANA (CONTRACTING, INC.		\$3,800.000	\$7,600.00	-55.3%